1 I 2 ] 3 [ 4 | 5 6 7 8 9 10

IF IN DOUBT - ASK REMOVE ALL BURRS & SHARP EDGES

ITEM NO. | PART NUMBER DESCRIPTION EXP/QTY.
1 15068 WASHER 8.35ID 16.50D x0,5mm 2
2 15093 WASHER 835 I/D x 17 O/D x 1.6 (NYLON 66) 1
3 15096 LEVER - DRAW EJECTION 1
4 15629 MAXI CASE 1

© 5 15982 TRAY 1
6 16111 DRAWER FRONT (MAXI) 2 SLOTS 75 LOCK ]
7 16150 BASEBOARD 1
8 16221 TRANSFER LEVER 1
9 20145 EJECTOR SPRING ASSY ]
10 20268 REMOTE MECH ASSEMBLY ]
B 30070 SPRING 1
12 20077 TORSION SPRING (szg.zzgnsrpn FX\/DO]mm D142 10 :
13 50003 NUT M5 FULL PLATED 6
14 50004 HEX HEAD SCREW (M5x12) 6
15 50006 NUT M4 FULL PLATED 2
16 50007 WASHER M5 INT SHAKEPROOF 6
17 50008 ECLP7.371/D 3
18 50012 RIVET SHORT ]
19 50018 E CLIP 3.73 /D 2
20 50065 M4 SPRING WASHER 2
21 50115 WASHER (M4 6
22 50176 ARROW CLIP ]
23 50236 NYLOC NUT M4 4
24 50578 CARP NUT M4 (C-1041) 4
25 60041 NYLON ROLLER 1
26 60064 LATCH PIN ]
27 80005 RUNNERS PAIR 1
28 80005 RH RHS RUNNER ASSY 1
29 80150 RUNNER CLIP 80150 2
30 81048 BUMPON (SQUARE 30x30x8 HIGH) 4
31 81407 PORON 50 SHORE SQ PAD 2
32 FO1423 BRACKET - RUNNER STOP 2
33 FO1986 CAM 1
34 SEE BOM LOCK ASSEMBLY (75 SERIES) 1

' 30
CAM ORIENTATION UPDATED
C 23141 2/4/2013 MJ UNSPECIFIED TOLERANCES *KE VEE MATERIAL: ) Cash Bases Ltd Tel: +44 (0)1273 616300
= — — - 0 raos 00 i s s | B WS — See Part Drawings Newhaven, Fax:+44 (0)1273 512010
— —- - - 00 =1025 00 =025 INDICATES : ) East Sussex BN9 OLA
REV ECP No DATE NAME 0.00 = +0.15  0.00 = +0.0/-0.09 mﬁg&N RDG See Part Drawings United Kingdom www.cashbases.co.uk !
PROD. ENG. APPROVED BY: : DATE SIMILAR TO PROJECT
e CHERDRY; THIRD ANGLE PROJECTION =] Do NOTSCALE | 13/01/2006 TITLE [__MAXL | DRAWING NUMBER REV
\o . U = ] , TO BS308. ALL DIMS IN mm [ C
© No part of this drawing may be reproduced or transmitted by any form, or in any means including USED ON  |EST.WEIGHT | PAPER | SHEET |SCALE MAX| 9 02 8 9
photocopying and recording, without prior permission of Cash Bases Ltd. Newhaven, East Sussex. - 10242.7g A3 [10F2]| 15
1 ! 2 | 3 [ 4 I 5 l 6 [ 7 | 8 | 9 | 10




1 | 2 3 4 l 5 [ 6 | 7 3 9 10

IF IN DOUBT - ASK REMOVE ALL BURRS & SHARP EDGES
B Al N . T
B |
e e
o o
A
o Oi
®
M5 ;
\ Fo) O:
§ @ o @ °
@
i
C\gn e - — -
. 858
! ! UNDERSIDE VIEW SHOWING FIXING DOWN HOLE POSITION
! ) m—
- 484 REF .

A
L
L
~
wn
~
y T — ~ AS e A
C 23141 2/4/2013 MJ UNSPECIFIED TOLERANCES o VEE MATERIAL: 7 Cash Bases Ltd Tel: +44 (0)1273 616300
. . L . LINEAR HOLE DIA ANGULAR — See Part Drawinas ’ .
0 =405 0 =405  £025° i — S S 9 Newhaven, Fax:+44 (0)1273 512010
Y — — 00 =025 00 =025 INDICATES : . East Sussex BN9 OLA
REV ECP No DATE NAME 0.00 = +0.15  0.00 = +0.0/-0.09 INSPECTION RDG See Part Drawings 4 United Kingdom www.cashbases.co.uk
PROD.ENG. [APPROVED BY: CHECKED,RY. DIMENSION DATE SIMILAR TO PROJECT
\QT%% % THIRD ANGLE PROJECTION 9—% DO NOT SCALE 13/01/2006 o TITLE DRAWING NUMBER REV
\j\. [ TO BS308. ALL DIMS IN mm
© No part of this drawing may be reproduced or transmitted by any form, or in any means including USED ON |EST. WEIGHT| PAPER | SHEET |SCALE 9 02 8 9
photocopying and recording, without prior permission of Cash Bases Ltd. Newhaven, East Sussex. -— 10242.79 A3 |20F2| 14 [
) 10

1 | 2 I 3 | 4 | 5 l 6 ] 7 8 | 9




